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English

fl#“

Name of the Books:

1. English for Today-NCTB
2. My Smart English Grammar Press

Marks Distribution

SL. ) Out | Tobe
Question Pattern Marks
No. of |answered
1. | Word meaning
; 11 10 1x10=10
(English to Bangla)
2. | Making sentences 7 5 2x5=10
3. | Fill in the blanks 5 5 2x5=10
4. | Matching 5 5 2x5=10
5. | Rearrange the
letters/words in the| 5 5 2x5=10
correct order
6. | Writing rhyme 1 1 10x1=10
7. | Answering questions v’ 5 2x5=10
8. | Grammatical
) 2 1 1x10=10
Questions
9. | Translation(into
_ 6 5 2x5=10
English or Bangla)
10. | Composition
2 1 10x1=10
(5 Sentences)
Total 100
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First Term Exam

Number of

Lesson No. Topics
P Classes

English For Today
Foundation build up classes
Good Morning (1)
Good Morning (2)
How are you? (1)
How are you? (2)
Good bye
A Rhyme:

Two little Blackbirads
The Alphabet Song
aA—bB
cC—dD
Numbers 1 —2
Unit-2 Two Little Hands
Lesson (1-10) | eE—fF
Numbers: 3—4
Counting Cats
gG—hH
Numbers: 5—6

Unit-1
Lesson (1-6)

Grammer: Language JItF =17 SRIRAPR
Grammer 1t JCT? SRR |
Composition : The cow (5 Sentences)
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1% Monthly Exam
Time: 30 Minutes Full Marks: 20
Sl Type Of Question And Marks
No Distribution LEIE
1 | Word meaning. 5x1=5
2 RhymeS. 5x1=5
3 | Word making (A —E) »&e 5x1=5
4 | Re-arrange. 5x1=5
Total 20
Unit Lesson
11 1-6
13 1-6
Second Term Exam
Lesson No. Topics NUGTIEEE O
Classes

English For Today

il—jJ

Numbers: 7—8

kK —nN
Unit-(2) Numbers: 9—10

Lesson (10-21) | 0O —pP

gQ —rR, sS—tT
ud —ww

XX —2zZ

Review of aA —zZ
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Lesson No. Topics ' Number of |
Classes
Unit-3 Classroom Instructions 1 —
Lesson: 1 —3 3
Grammer Vowel 3= 31 8 i 2
Composition Myself (5 sentences)
Annual
Lesson No. Topics Number
of Classes
English For Today
Self-introduction
In the village
. In the city
Unit-4
Lesson :(1—=6)| At home
In the classroom
Review Lesson
Unit-5 Animal Sounds
ive?
Lesson: 1 — 3 Where_Do you Live?
A Family Tree
Grammer Vowel, Word %1tz 3t ¢ s fs2
Composition My mother (5 sentences)
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Spoken English

1%t Terminal Exam

Follow the class

2" Terminal Exam

Follow the class

Annual

Follow the class




